4th Games Small Fed.- Final

round 2

bl 3 Belarus 36 15 open N : Badrankova Svi |E : Mieti Renzo closed N : Briolini Gianc |E : Badrankova Svi

SMarinoOp 36 15 S : Haponava Ulyan (W : Treossi Paolo S : Briolini Gianc |W : Badrankova Svi

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 6 NT -1 E «8 |50 6 NT = E v6 990 14 -
2 3NT 1 N v2 100 3 NT +2 N 4 8 |660 - 13
3 24 +1 S +5 (140 44+ +1 N &6 |450 - 7
4 64 +1 N v5 (1460 6 4 +1 N 48 (1460 - -
5 1 NT +1 w v4 120 1NT #+1 w »6 120 - -
6 3441 E vK (100 24= E vK 110 5 -
7 2NT 1 N aJ 100 3ex-1 S &9 200 3 -
8 3NT 4 E v6 (200 3NT 4 E v6 (200 - -
9 3 NT +1 E 43 630 49v+1 E 44 650 1 -
10 49+3 w *J 710 6v+1 w *J 1460 13 -
11 3 NT +1 w 46 430 6¢-1 W &6 |50 - 10
12 49= w ¢+ A 420 34+ E & K 170 - 6

Montenegro | 38 13 N : Erakovic Goran |E : Masic Faruk N : Novosel Igor  |E : Macanovic Laza
tbl 4 open closed

Bosnia 47 17 S : Dacic Vesna W : Martinovic Dra S : Martinovic Dra |W : Drobnyak Denis

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 2v= S +10 (110 2v= S +10 |110 - -
2 2v 1 S & K 100 3v-1 S 48 100 - -
3 441 W | «K (100 24 +1 W | &K 140 6 -
4 4¢= S +K |130 PASS - - 0 4 -
5 3 NT +2 S ¢+ A (660 491 S ¢5 100 13 -
6 3 NT +3 N 10 |490 1NT x-5 w &2 (1400 - 14
7 44-3 N vQ 300 3v-1 W « K [100 - 9
8 4a= N v K (420 441 N +K 50 10 -
9 3NT 1 S a5 50 3 NT +1 N 44 430 - 10
10 2NT -3 S & K 300 3NT-5 S & K 500 5 -
11 6e= E & A 920 6vx- E & A (100 - 14
12 4a= S v5 (620 44= S 42 (620 - -




4th Games Small Fed.- Final round 2

Slovenia 36 16 N : Butina Tomaz |E : Bendiks Janis N : Bendiks Janis E : Orac Tolja
thl 5 open closed

Latvia 32 14 S : Butina Tomaz |W : Bendiks Janis S : Lorencs Martin  |W : Jesenicnik Ale

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 1 NT +2 S vK (150 1NT = S 49 (90 2 -
2 5¢x-3 N +Q 800 34+2 E vK 200 - 12
3 2v-2 E «3 (200 1a= N vK (80 3 -
4 3a= E +5 140 242 E 45 (200 - 8
5 3v= S ¢+ K 140 6¢-1 E +8 |50 3 -
6 4v= N +Q |420 4v= N v4 (420 - -
7 3NT = w 43 600 3 NT +1 w vK 630 1 -
8 3v= w +K 140 3NT = w ¢+ K 400 6 -
9 24x-3 E «4 (800 4v= N ¢J (420 9 -
10 6e= S v 10 (1370 3 NT +1 S v7 (630 12 -
11 49 -2 S &6 100 244 w v2 (200 -
12 3v= E | aA 140 4v-1 W | 4K |50 - 5

Malta 19 9 N : Farrugia Marie |E : Tomcani Jan N : Velecky Eduard |E : Vella Anna
tbl 6 open closed

Slovakia 43 21 S : Sacco Albert W : Miroslava Keme S : Velecky Eduard |W : Vella Anna

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 1 NT -2 N v5 100 2v -1 N s A 50 - 2
2 2441 S &K (140 24= S K [110 1 -
3 4v= S &6 (420 3e¢+2 S +6 [150 7 -
4 44+1 E a4 650 5&x-4 S 43 1100 10 -
5 2¢+1 w vK 110 242 w vQ |100 - 5
6 5¢x-3 S vJ 500 3v+1 E +Q 170 - 8
7 4a= E +Q 620 44+ +1 E +9 650 1 -
8 541 N &2 50 44+ +1 N 49 450 - 11
9 6vy= w vJ 1430 49 +2 w *6 680 - 13
10 24+ N &4 140 343 w v8 (300 - 4
11 491 E +Q (50 441 E +J |50 - -
12 4 % +1 E v 10 150 1 NT +2 E v3 150 - -




4th Games Small Fed.- Final

round 2

Czech 59 25 N : Kopecky Michal |E : Filippi Mimma N : Perlini Maria E : Volhejn Vit
thl 7 open closed

SMarinolLd 8 2 S : Kurka Josef W : Urbani Anna Ma S : Stacchini Mari |W : Jankova Jana

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 3 NT +2 W | &K 460 3 NT +2 W | &K 460 - -
2 3&-2 E +10 |100 242 S &3 200 7 -
3 1 NT +2 S +2 (150 1NT = w *2 90 6 -
4 3NT 1 W | «K (100 3NT = W 43 600 12 -
5 3 NT -2 E vJ (100 3NT -1 E &2 |50 2 -
6 49 +1 E s A 650 5¢+1 E s A 620 - 1
7 2v+3 w +8 200 4v+1 W +3 650 10 -
8 3NT = S + 10 |400 3 NT -2 S a7 100 1 -
9 3NT 1 N *2 50 2NT = N ¢2 120 - 5
10 3 NT +1 S ¢4 (630 3 NT +1 S 43 (630 - -
11 44-4 S ¢A 200 34-3 S ¢A 150 - 2
12 3 NT #+1 N +Q (630 2¢-1 W K (50 11 -

Ukraine 49 25 N : Chumak Yuliy E : loannou Depsi N : Frangos Philip |E : Danylyuk Volod
tbl 8 open closed

Cyprus 1 3 S : Roryshyn Oleg |W : Georgiades Geo S : Frangos Philip |W : Danylyuk Volod

open closed imps

bd contract decl lead score B contract decl lead score B home visit
1 S5v= w +4 450 49 +3 E v3 510 2 -
2 1NT = E +K 90 1NT #+1 W + K 120 1 -
3 S5v-1 W | 410 (100 3 NT +1 w 46 630 12 -
4 3v-1 E « K |100 3v-1 w +Q (100 - -
5 14+2 E 43 140 2+ +1 w +Q 140 - -
6 3a= N ¢+ A |110 3a= N v8 |110 - -
7 54 x-1 w «A |200 4= E +Q 130 8 -
8 24 +2 E +Q 130 3¢+ E s J 130 - -
9 S5v= N &7 |450 49 +2 N &8 |480 - 1
10 3ex-3 w v9 (800 2v= S ¢ A |110 12 -
11 3¢-1 E +10 |50 3NT = w 43 400 10 -
12 3NT -1 w v8 |50 1NT = E ¢+ K 90 4 -




